Problem Solving with Ratio and Proportion
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Q1.
* The normal price of a denim shirt at a shop is £9.60

1
On Special Offer Day, there is 3 off the normal price.

N

Special Offer Day

;% off normal prices

Has he enough money to buy two denim shirts on Special Offer Day?

Billy has £13

You must show all your working.
.‘g of £4.00=£3.20
£8.60 - £3.20 = £6.40
2 % £6.4O = £12.5C
Bapj does baoe enoga rMmoney.

(Total for Question is 4 marks)



Q2.

Shazia

The co

buys 10 boxes of drinks.

st of each box of drinks is £5

Each box holds 12 cans of drink.

Shazia

2

i

sells 3 of the total number of cans for 60p each.

She then sells all the remaining cans for 30p each.

Work out the total profit that Shazia makes.

lef:S:éSO sSec

1O =< 12 = \20 drinkS

33. of 120 = O

%Oxo.b?-é%g

<\'O xO‘S'-” él2+
E£60

Z6O — LSO = ElO

Slazic. Mmakes ElO

Q3.

(Total for question = 5 marks)

Liam, Sarah and Emily shared some money inthe ratio 2: 3:7
Emily got £80 more than Liam.

How much money did Sarah get?

L |16 |\6

S

E{t6|16]\6 |16 161616

le |lb | \b

—N—"
£30

Sxlb = £4T

(Total for question = 3 marks)



Q4.

There are 500 passengers on a train.

-
h

20 of the passengers are men.
40% of the passengers are women.
The rest of the passengers are children.

Work out the number of children on the train.

2 OF SO0 =2S5S%x72 =123 men

20
W OF SOO-:SOXL“:QOO L_OMen

|\ 7S +20c0 =378
Soo —37S =125 Adaildren

(Total for question is 3 marks)

Q5.

Mr Mason asks 240 Year 11 students what they want to do next year.
15% of the students want to go to college.

¥, of the students want to stay at school.

The rest of the students do not know.

Work out the number of students who do not know.
1S7. of 2«0 = 24 +12 =36 W@)
-écﬁ\Q&o:wgo(Sdeﬂ
24O - (180 +36) = 2% Nadle=s

(Total for Question is 4 marks)



Q6.

Sapir buys 60 bags.
She pays £3 for each bag.

Sapir sells ¥ of the bags for £5 each.
She sells % of the bags for £4 each.
Sapir wants to make a total profit of £75

How much should she sell each of the remaining bags for?
6O x £3 = £El8O seene
Lt of 60 = 30
20 x LS = £SO received.
3 of 6O = 20
20 = L& = L8O receided.
£2S rmore needed (O £7S profe

£2S H1obags = £2.59

(Total for Question is 4 marks)



Q7.

Sam buys 20 boxes of oranges.
There are 25 oranges in each box.

Each boxes of oranges costs £7

LA | b2

Sam sells > of the oranges he bought.

He sells each of these oranges for 40p.
He then sells each of the remaining oranges at 3 oranges for 50p.

Did Sam make a profit or did Sam make a loss?
You must show working to justify your answer.

20 w £77 = £14O spenc

20 x2S = SO0 orenges il
L of soo = 200 B
200 x O.& = £8O received
3OO orerges lefe

OO < ©.S = £SO received

(280 + £SO) - £I4O = — £LO
Serm bk & Loss of &£O

(Total for question = 5 marks)



Q8.

Mr Brown and his 2 children are going to London by train.

An adult ticket costs £24
A child ticket costs £12

Mr Brown has a Family Railcard.

Family Railcard gives
— off adult tickets

60% off child tickets

Work out the total cost of the tickets when Mr Brown uses his Family Railcard.
1
L of £2%=E£8
Adule bucelt » £2%« - £8 = £l6

COv. of £12= 6w £1.20= £7.20
Ot Bdeels = £12 -£Y.20 = Z24.80O

| 6. OO0 —
. (S 2‘O~6O .........................
: ) 882 + (Total for Question is 4 marks)

175.6O
|



Qs.
Rachel bought a packet of 60 balloons.

l
10 of the balloons were yellow.

La E Lad

of the balloons were red.
The rest of the balloons were blue.

How many of the balloons were blue?

L of bo’6ﬁj€u.ow

(o

3 "
-—S—'OF 60~3é> ed
bo—(b-kSé;) = 1§ ble

l g balloons

(Total for question = 3 marks)



Q10.

* Two shops, Mega Bathrooms and Bathroom Mart, each have a sale.

Mega Bathrooms Bathroom Mart
Sale Sale
ﬁ ! il * 2 el ¥
60% off normal price = off normal price
then =
15% off

Sally wants to buy some bathroom units.
The units have a normal price of £1500

Sally wants to buy the units as cheaply as possible.

Which shop should she buy the units from?
You must show all your working.

Mege Bcid~rroors R P
wOv, of £ElSoco = Z6C0 -._‘i; ZiSoo = £5°0
| S7. of Z600 = £90

£600 - LGO = £S1O

S; S‘ ( ( >k L2 wLndsS GDM -&&’OOM
Marte.

(Total for question = 4 marks)



Q11.

Greg sells car insurance and home insurance.

The table shows the cost of these insurances.

Insurance

car insurance

home insurance

Cost

£200

£350

Each month Greg earns
£530 basic pay

5% of the cost of all the car insurance he sells
and 10% of the cost of all the home insurance he sells

In May Greg sold

6 car insurances

and 4 home insurances

Work out the total amount of money Greg earned in May.

(o casarance. ® © % 200 = £1200

SY of E1200 = L6O
Horme cnswvtnce = & < £35S0 ° &1¢00
lO7. of Elwoo = £14O

LSRO+ £OO + LIGO = £730D

(Total for Question is 5 marks)



Q12.

* Orange squash is used to make orange drink.
Jill is going to make orange drink for 50 people.

She is going to make 2 full glasses of orange drink for each person.
She needs 250 millilitres of orange drink for each glass.

Here are the instructions for making orange drink.

| Mix 1 part of orange squash with 4 parts of water. |

A one litre bottle of orange squash costs £2
Work out the total cost of the bottles of orange squash Jill needs to buy.

(1 litre = 1000 millilitres)

2 x SO =100 6(@55@3
OO x 2SO = 2S ooOo A~ = 2S L. needed.

2S5+5 = S (I pc./-t)
S~ £2 = EIO
I needs w specht EO on geash.

(Total for Question is 5 marks)



Q13.

In a company, the ratio of the number of men to the number of women is 3:2

40% of the men are under the age of 25
10% of the women are under the age of 25

What percentage of all the people in the company are under the age of 257

=
Me~? T o C_()MPC./\(j

...................... 2B %0

(Total for question = 4 marks)



Q14.

Helen has 80 books to sell.

Each book is Fiction or Non—fiction.
The ratio of the number of Fiction books to the number of Non—fiction books is 3:1

Each book has a normal price of £10
Helen reduces the price of all the Non—fiction books.

Non-fiction

All books
Y2 price

Helen sells all 80 books.

Work out the total amount of money Helen will receive.

g0 + & = 20 (1L par€)
7 >00

£ o P, © N

(Total for question = 4 marks)



Q15.

A charity made an appeal for money.

The charity put the information shown below on a poster.

Hunger appeal
¢ £3 will buy 5 meals for one person.

e £100 will buy lunches for 80 school children for 5 days.

£3 will buy 5 meals for one person.

(a) Work out the cost of one of the meals.
Give your answer in pence.

oo T O

S

£100 will buy lunches for 80 school children for 5 days.

(b) Work out the cost of buying lunch for one school child for one day.

COFS = OO MecdS

loCd = QSP
D

(Total for Question is 5 marks)



Q16.

5 schools sent some students to a conference.
One of the schools sent both boys and girls.
This school sent 16 boys.
The ratio of the number of boys it sent to the number of girls it sent was 1 : 2

The other 4 schools sent only girls.
Each of the 5 schools sent the same number of students.

Work out the total number of students sent to the conference by these 5 schools.
122 = lo * 32

L8 < S = 240

(Total for Question is 4 marks)



Q17.

A supermarket car park has 200 spaces.
10% of the spaces are for staff.

The other spaces are for disabled people, for parents and for other customers in the ratio 1 : 2: 7

Paul is going to paint a sign for each of the spaces for staff, for disabled people and for parents.
He is not going to paint signs for the spaces for other customers.

Work out the total number of spaces Paul is going to paint a sign for.
1O% of 200 = 20 SE{f spaces
150 210 = (3 (1 pare)
| x\§ =\8 discbled Space
2 <% = 36 parens SPRRD
20 +1% + 36 = X Sprees

(Total for question = 4 marks)



